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51. Where did Gandhiji
Satyagraha for the first time?

77 di

/\c\ (@) India

~b)” South Africa .
() South America
(d) England

was the moderate leader of
2 Congress.

(a)
/(,b)/ Bipin Chandra Pal —

Lala Lajpat Rai

(c) Bal Gangadhar Tilak

(d) Gopal Krishna Gokhale

- What is the percentage of
nitrogen in the atmosphere?

(a) 21% ><
(b) 78%¥ -
He]” 84%

d) 87%X

?(l;etroleum is also famous as

(@) Mustard oilX
(b) Coconut oil X

/(cj/Crude oil

(d) Petrol
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55. Which of the following is the
most common cause of goiter?

(a) Vitamin D deﬁciency_
by~ Iodine deficiency
(c) Calcium deficiency

(d) Iron deficiency

56. What does GST stand for?
(@) Goods and Sharing Tax
(b) Good and Silent Tax

(c) Grand Services Tax

Aar Goods and Services Tax

'|57. Which Government authority
issues the currency notes in
India?

(a) The State Bank of India

_Aej The Reserve Bank of India

(d) NITI Aayog

artificial
chatbot

58. ChatGPT is an
intelligence (AI)
developed by

(a) Google

(b OpenAl

(b) The Ministry of Home Affairs
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(a) Bawa Balwant (a) T B3
(b) S.S. Wanjara Bedi (b) H. H. AT gt
() Prof. Puran Singh ©) q-\ ugs fiur
(d) Balwant Gargi (d) qosg EJFHEIﬂ f
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‘ = - 5
() -5th May ‘ @ 5wt
_by 5th June “ iRl S0
() 6th May ~ () 6wet
(d) 6th June | . (d) 685
- | 62. WHIAT T FHEIUH T TASe
- Which  Indian  has peen DT fome §3 & weee Fa
( nominated by the US President peily IR & FHET Ao
Joe Biden to lead the World e fom >l 2 '
Bank? . J? :
(@) Indra Nooyi (@) fe=gr St
(b) Raghuram Rajan (b) JWI™H IH&
(c) Satya Nadella (c) Wi a3mr
_Ad]” Ajay Banga (d) e Sarr
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here will the next Olympics
024) be held? -

63. W
games (2

Maris
(b) India
() England
(d) Russia

Sunil Chhetri is associated with

64.
which game/sports?
(a) Cricket,

(b) Hockey

ey Football
(d) Kabaddi

The famous Puranchand Wadali
is associated with field.

(@) Dance
4B) Music
- ()
(d) Educat1on

Business

Name the city which was host to

66.
" the (G-20) 2nd Education

from 15-17th March 2023.
] Amritsar

(b) Bathinda

(c) Patiala

(d) Pathankot
/|97, In which categdry, the movie
RRR’ won the Oscar Award?

(a) Best Screenplay

(b) Best Sound Mixing
A" Best Original Song

(d) Best Picture
¢ '

Working Group (EdWG)_meetmg ’
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Pl
}B( Name the person who was
| posthumously conferred the
Padma Shri
contributions in the field of trade
and industry for 2023.

(a) Cyrus Mistryb<
(b) Bappi Lahiri ¥
(c) Rahul Bajaj

'jd/)/ Rakesh Radheshyanbé N
h

Jhunjhunwala

. Which of the following towns is
4, known as nursery of football?

(a) Gurdaspur 4

_{BY" Mahilpur-"

(c) Mukerian

(d) Fazilka };<

70. Maharaja Ranjit Singh belonged
to Misl. '

(a) Ahluwalia
Pl Shukerchakkya

(c) Kanhaiya

(d) Ré.mgarhia
74. The total area of ‘the State o
Punjab is !
(a) 48,362 square kilometers ¥
(b) 49,362 square kilometersy

/(,2')/ 50,362 square kilometers

(d) 51,362 square kilometers
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(b) He@Sen

(o) g
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@{ Which of the following is the other
name of Harappan Civilisation?

/@ Indus Valley Civilisation
(b) Egyptian Civilisation
(c) Vedic Civilisation

(d) Mesopotamian Civilisation

/7}3’.(Who founded the Mauy
Empire? e

(a) Nanda rulers
(b) Samudraguptay

(c) Aghoka)<

Mhandragupta Maurya

74. Where is Sanchi Stupa situated
at?

(a) Near Jammu
_{by" Near Bhopal
(c) Near Chennai

(d) Near Jaipur

75. Where did the Revolt of 1857
start?

(a) Delhi
(b) Ambala

_[ey Meerut
(d) Firozpur
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fagar 97
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Ao ArHaH € AEvET fam S
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(c) »Hd
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: he idiom
76. Choose the one which best expresses the meaning of the idiom

“Apple of one’s eye”
(&) Cheap thing
(b) Fruit
(c) Eye flu

/(,d&" Valuable thing

77. Out of the given alternatives, choose the word which is P%P_(Eite in meaning
to the given word :

DEEP
(a) Hollow
(b) Profound

& Shallow

(d) Willow

78. Out of the given alternatives, choose the word which is same in meaning or
nearest in meaning to the given word :
VACANT

(a) Full«
(b) Vacation<

(c) Decorativey

&7 Empty

79. Find the mis-spelt word from the following :

(a) Furniture

(b) Alphabate

_[ey"Dozen

(d) Office X . B
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ﬁ Give one word Substitution for the following : .

A list of name of bogkg
(a) Index
(b) Content list

_{ey" Catalogue

(d) Itinerary

}{:Nhich one of the following is correct?

(@) These cattles are mine -
(b) These cattle are mine
ley "These cattles is mine

(d) These cattles was mine

not gold.
(a) Was |
(b) Is
(c) Wiil
(d) Shail

8/3./ If she wins the match, she ___- get a lotr of money.
(a) Was
(b) Should
() Is

(@ will -

e
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4. Change the voice :

They did not listen to me.
(&) They do not listen to me *
,Llﬂ/l was not listened by them
(¢) Iam not listening to themi

(d) They are not listened by me

85. Change the narration. :

Radha said, “I am going home now.”

(@) Radha said that she will going home then
(b) Radha said that she is gomg home then

)9)/ Radha said that she was go1ng home then

(d) Radha sa1d that she was going home now

86. Rewrlte the followmg by using the Present Perfect Tense :
We each other for past ten years. (know)

(@) Have known
(b) Had known

(c) Were known ¥

/(d—)/’Have been. knowing

/8"7./ Fill in the blank with the suitable word frem the
Can you this stick? {23 T

" glven options :

(a) Brake

/(;bjﬂ Break

(c) Broke ‘ﬁ : . ‘ |
(d) Bleak ™ 2
(20)
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|98, Iz fofim &5 fgggr da=t " Folklore’ 2 waE’ $ 1{812’@?’ I?
(@) ﬁa/mx
(b) Jx-Trgr

() BI-U3T

(d) Sa-dfi=z
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101. Who is the present Governor of
Punjab State?

(&) Vijayendér Pal Singh Badnore
(b) Charanjit Singh Channi
(c) Harjot Singh Bains

Ad} . Banwarilal Purohit

102. Which of the following is the
State animal of Punjab?

_fay— Blackbuck

(b) Chinkara

(¢) Wild Buffalo
(d) Elephant

103. The average weight of A, B and C

is 65 kg. If the average weight of C -
and B is 61-5 kg and the average
weight of A and Cis 685 kg, then

‘ ; )
the weight of C (in kg) is 5]

104. A motorboat goes 24 km in 2
hours along the stream and
10 km in 1 hour against the
stream. The speed of the
motorboat in kilometers per hour

aBc . 63y22195 8¢,
=765 P QL%_ J7
b) 67 AG=2 (37 220 65
oS - P
(¢ 60 | Y (b) 67
(d) 68 T 3 | 1377 6o
: 5 &
() 68

" 104. 8 Hegde u9T T &% 2 U fag

is .y le 2=
(a) 14 ,/"; /@A
(b) 10
s
@ 12
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101. Uamg I € Hger gy de 7657
(a) fereg us fity asq

102. fegs® f29 faggzgT da9 T T
5= I7

(@) I fads
(b) fdamar
(c) Hast HE
(@) Tt
103. A, BM3 ce*%wﬁﬁ@%l
Fa9 cw3 BE A3 39 61-5 A&

3, W3 AWM3 CT WHS F9 685
a8 3, 3t cer g9 (f38 f&9) ot

24 fft w3 ggr @ faydiz 1 iz
fS9 10 faoft 9=t I1 fesse <

939 faBHieg yFt ver feg ot I2
(a), 14
(b) 10
() 11
(d) 12
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105. Ravi, Mohan and Govind can

complete a task in 12 days, 10
days and 15 days respectively. In
how many days can Ravi, Mohan
and Govind together complete

the same task? A
@ 8 gy ]o I
b7 G s & ™
© 2 &
(d) 6

106. A, B and C started a business.

Twice the investment of A is
equal to thrice the investment of
B and also five times the
investment of C. If the total profit

-after a year is ¥ 155 lakhs, then
the share of B in the profit
(in ¥ lakhs) isc 4 O

(@ 75 a '3

(b) 3 A6 31 4(.\4;__{(/

(c) 45 A, 3| SE
/(,d*)/S 1> /0({ 6/ )\

107. If 3x+2y =7 and 4x-y =24, then

x-y=7 "?)7),\-,9\;\:( | ‘5
(@ 9 Y= = 2N
T ey Yy
(c) -9 % v 42‘} 7] @
(d) -1 ”\g m’/, '/",;I,J./
108.If the difference hetween

L

/1-C

compound interest and simple
interest on a certain sum of
money for 3 years at 5% p.a. is
7 122, then the sum is  gap©

Srodt

108, ), fas A AR i qram
g 12 fas, 10 fars N 15 (g
Ster v ] del, NIS
P yar & WS TELaeh T E
e s & G 9T & (s fai

[ T G e 487

(n) 8 .

(b) 4

(c) 2

(d) 6

A BWS CE fog il 1 AT Aw

Sorer fm B2 foam © 48 gar @

g & w5 & U R R

gqrg 31 Aag {6 7S AR I8

g 156 B JUE I, 3T HE

g o R (B JuB f9) bo

106.

e o R 15 ‘.;\'/‘/‘
o B e TSy
() 7:5" 120 -9 SN
(b) 3 ()\ < 1 At
© 45 75
(d) 5 “”// 7 1\5,
- . L
107. 75T 3x+2y=7 M 4x-y=24 J
\,fr‘ N BT x—- LI:
P () 9
by 1
\ (C) -9
S\
ot (d) -1

i
1(\)8' ST 5% Yt v 0 3 et B
jf «T@a lonfyg genr -3 fmfeg ferm
’;f’lﬁ:” WS IS foy Ry wlgg @ 122
- TR, 3 fig ay () SRl ¢

(a) % 25,000 o e b @) R125,000

() ¥ 19,000 g e 00 19,000

(o7 16,000 s (e R 16,000

(d) Nonc of the abhove () Qg 3 (&} Qe & '?;EHJ
(26)




expressions 12 - gy and 4x+ 2
become equal is

(a) 10 [’7%7[‘7 HJE]*';
(b) 5 . 5y 53 4|

(c) 63

e

(8318~ 5+8)—{8w}+m] is
(@) 5 gL - (Swﬁﬂ'WJﬁ-/o
(bi 203~ [¥—12~ 15 L

@ 0 8- + 190

(a) 0O -~ (\“); \;)—,“] -
’ A\ o 0 "
(b) 2 ) |
oyl
A1
(d) 4
110. If gth of —i—th of a number is 192, 110.
then %th of the numbgr is /g%'ﬂ o
| A s
_ay"105 = F <
0) 77y SEMR S
(c) 80
(d) 36
111. Evaluate [7+7*(7+7/7)]+7/7 111.

112 The value of 112.

109. The value of x for which (he 109. x T H'G ot 9 fme =t mflads|

12 —6x M3 4x+2 gI9g T 7
I57? ‘

(@ O

(b) 2

(o 1

(d) 4

e fari o 2 8@Uﬁﬁ€’—
= i 1923, yﬁr&é’r@ 5 f

sﬁ%oﬁ

(a) 105

(b) 77

© 80

d) 36

Waﬁ

[7+7*(7+7/_7)]+7/7

(@ 10

v (b) 5(..’ .
(c) 63 -

) 64

8-[8—-(5+8)-{8—(8-5+8)}+10]
T HS

‘(a5

(b) 20
© 0
(d) ' 10

g(91/10
/1T

(27)

[P.T.O.




)

113. If 22% of x= 30% of Yy, then y : x

is equal to 93 G
Vs N =2
Mgt 15:11 PO J)’gj
(b) 15:14 B Ba g,
| J- T
() 17:16
_Mdy~11:15

114. A train of length 350 m crosses a
bridge .of length 250 m in
20 seconds. What is the speed of
the train (in ‘km/h)?

g © N
@ 95 M>< I3,
(b) 72 T
_Mej7108
(d) 88

115. A bus covers a 60 km distance in
1 hour 30 minutes, whereas the
same distance is covered by a car
in 45 minutes. What is the ratio |
of the speed of the car to the 7

speed of the busg% 43897_/%:
2:1

P 2
(b) 1:5 0 o

(—= ==

(c 3:5 g
8?0

d 5:3 -

S ¥e

7 If the average of 7, 11, 15, x, 14,

21, 25 is 15,-then the value of xis |\

P

113.

114.

(a)
(b)

(@

115.

(a) 2 1 [
b) 1:5 !\!
.~ ‘.)/-\
\\‘9 (¢ 3:5 . O=S ¢
| : i
P (@ 5:3 /‘/Jﬁ:w’“)
51 1 @
B N ,%; 1.
116.7, 11,15, x, 14, 211,/55/@ A3

S x @ 20% = Y= 80% & F
y:x & HS ot ;3’{

(a). . :4,11

(b) 14 -

(c) 16 .

(d) 15

350 e @t i 35 250 HieT B
uw & 20 Afds &9 U I J1 35

& ez (fft/der @H)Eﬁfm
95

72, ¢

@ 108

88

15
15:
17 :
11:

fq g7 1 wie 30 fic f<9 60 fanft
& gt 3 g9t 9, 7< fa gat f
ot g a9 @nfrar 45 fie &g 3
St 7€t J1 a9 <t I539 wI IR
E&m?WSﬁ%o
(I

155, 3Tx€T‘H-1—6a°r§fo ;)r

(8 3+ (o B =B a) 3

O O N [ERS A Sl TET)

,() ):D 1 ,2’7( (b) 145

epr 12418 T 58 J A

g ‘
(d 133 . \sbtM (d) 133
=y [08+77 7 )X 7 ’,B (28) —

lb
jie el




7@’”’,‘-’/’ e

rimeter of a square is
merimeter of a
fctangle- The perimeter of the
1 are is 40 m. If the breadth of
ihe l-ectangle is two-third of its

Jength, then what is the area
(in m?) of the rectangle?

I

(@) 100

({,n
6 :

A0 ”@ g

BN

(C) 84 —

@ 121

118. Four numbers have been given,
out of which three are alike in
some manner and the fourth one
is different. Choose ‘the odd one

out.
(a) 19
(b) 23

/@/45

(d) 83

119. From the given four words, which
word will come in the last in an
English dictionary?

(a) Pragmatic 3

__[by Protect Y

(c) Pastel |

o

(d) Peacock Z

yo A JsBrey]

(29)

7. R =50 ol o wrfes 2
ufanny & s 31 =gar @ ufg
40 m J| #ag wrfeg o Fzh fom
o Saet T 2-faget 3, 37 wrfes
T 43988 (m? fg) ot 37

(a) 100
(b) 96
(c) 84

(d) 121

118. 979 499 &3 a8 T, fagt 29 139
foiy a7 fan gu fv &g fad 95 3
Jgr fog 249 I T § I ¢
(a) 19
(b) 23

(c) 45

(d) 83

119.%@3@%@%?&@@3
Wit feamsdt f&g »nfle 9

T ?
(a) Pragmatic
(b) Protect

(c) Pastel

(d) Peacock

[P.T.O.



hoose the odd on€
gwen alternatives-

1

(a) Asia ¥
(b) Europe€ X
(c) Australia

(d) Arctic

121. If K denotes % T denotes +,‘\Y
denotes ‘+’ and R denotes —,

then16V24T8R6T2K3 ?
P X
(b) 11

(c)
d) 13

| k5

5

ESRE 2
=

X
12 9

)R,

.)("
9 -9

122. P is the brother of D. X is the

is the daughter of D. M is the
father of X. Who is the uncle of A?

8 i
DD

() P
d X

123. Find the missing alphabet in the
given sequence :

T PG T
Z, V T,?,P,N

(a) S
bR
(cg U
(d Q

sister of P. A is the brother of F. F

121.

122.

123.

AT IS 97

0% gowge I, T ¥

J_J “")4')

a9 K
EHFF@E“ﬁVwL?SEHFF@?T

“aeaw@??r cy
16V24T8R6T2K3 ?

10
11
12
13

(2)
(b)
(c)
(d)

ppETgaT I XPEt S J1 AFT
397 | FD ot 31 MxE Uzt JI

/1-C

e

(30)




: i is different
the one which 1s
24. Select ther responses.

1

31813 \__Q ’L\
| sy EDCHBHMM _ 1y |3 12

(b)LDCHBHMD 35 4 9 3

(d) A EFEJDJOM

126. In a row of 60 persons, Ganesh is
26th from the left end. Find out
“his position from the right end.

\ (835 (on 2hrt]
| 6=
(b) 36 %—
—
() 34

(d) Cannot be determined
¢

(31)

)

from the ©
%o (@) DFH
FH %
(@ DU
JLN 1 (b) JLN
(b) o\
(©) QRS
RS |
|
e j' (d) uwy
d) UWY . |
( A\iElf}
de langua 125, 59 ¥y 93 g7 f¥9 COMPUTER
. . . ] PUTE
12810 & Certn O ritten 4 & RNLOTSDC fafimm #igr
COMPUTER 18 written as 2 : ’ s |
. RNLOTSDC. How will MEDICINE MEDICINE § §7 33 s f&9 fa=
be written in that code language? Fesfipyr T
P S E

(c) EDCJDHMM ;'[,’ 38 2§

S g r oy mew S S T -

9 Y ‘(a):} EDCHBHMM
1y < () LDCHBHMD
12 | 3(c) EDCJDHMM

~ (d EFEJDJOM

126. 60 femadm & Iz S5, TN
9 19 3 26 2 AEs 3 I HY A9
3 On<t mfgdt T u3T Sars :
(a) 35
(b) 36

(c) 34

@ fssurag f efig 77 A

[P.T.O.
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ol is used in MS-

7 b
127. Which sym ormula or

Excel to begin & f
function?

@
b) @
Loy
(@)

#

128. Which  of . the following
statements is/are correct about
the main memory of a computer?

/(/a‘)/Data gets lost from the main
memory wherx_ power is
switched off

the secondary memory

Main . memory -
inexpensive memory

All of the above, Nt

change the case of characters
from lower to upper?. ..

(& ESC ' () ESC
(b) Return . (b) Return
(o) Alt (o) Alt
+dj” Shift (d) Shift
‘}3’(Wh10h of the followmg shortcuts ‘130."%6'5‘ §§(ﬁ€ fég IZ TIHC Bas o
is used to search some text in a PR W, o fagsr =gfam
Word document? a—& o I=d
T J7
(a) Ctrl + AX e
(a) Ctrl + A
- (b) Ctrl+H Sy
i (b) Ctrl+H
Girl Sk (¢ Ctrl+F
(d) Ctrl+Sx (d) Ctrl+ s »

Main memory is slower than i

S Very i

129. Which key of keyboard is used to

129,

127.fé’aamﬁ?ﬁé’mmmw
MS-Excel f&g fagar g =afamn
e 97

(a)

(b) @

© -
(d) # _
IGes o e A Y st £
qust f&d faoz Adt 372

(a) Data gets lost from the main

memory when power is
switched off

128.

(b) Main memory is slower than
the secondary memory

¢ ’ . \ % .

~ (9 Main memory is very
- ./ inexpensive memory
(@), ST i3 w3

WW@&W@WBT@NH%B
m@ﬁmeﬁmﬁaﬁ
=gt 7t 39

[
L

/1-C

(32)




133. Portrait and Landscape are the

184, Which of the following operations

131.

132. Which

13 :
B Iat fa3 &5 fam <t =93

hich of the following will you
1‘:/;6 to view webpages on your
cornputer? ,

Graphics software

)
(o) Remot

System software

e server

(c)
/‘d,)/w'eb browser

of the following is not an

example of operating system?

(@) Android

(b) Linux

(c) - Microsoft Windows

_tdy MS-Office

examples of

(a) Page size
_[by"Page orientation
() Page margins

(d) Page layout

will you perform if you need to
move some text in a Word
document?

(@) Copy and Paste

b Cut and Paste

(©) Paste and Delete

(d) Paste and Cut
. (33)

CRERES AR

337

(a) Graphics software
(b) Remote server
() System software

(d) Web browser

132, 337 i3 55 fagsr GuItar fmer

& Sevgs &t 37
(&) Android
.(b) Linux
o) Microsoft Windows

(d) MS-Office

133. igede W3 Bsmay It Geaae

Jo

(a) Page size

(b) Page orientation
(c). Page margins

(d) Page layout

134. 79 3T8 =98 3gic <9 fai ame
| zjg—@aasé’r@s%rg*gﬁaﬁﬁ%

f&F faaaT oW 93917
(a) Copy and Paste
(b) Cut and Paste

(c) Paste and Delete

(d) Paste and C/ut/_J
[P.T.O.




f a worksheet

135. The basic unit o ‘
into which you enter data in

MS-Excel is called

_(ayCell

(b) Table
(c) Box

(d) Column

136. Which of the following is a
correct format of Email address?

(a) safnple@gmail@coin
- _{b) sample@gmail.com
(c) WWW.sampie'.com_.,'l"f\/ £

(d) http.sample;coiri Y

137. Which of the following is not a

region in Punjab? . 5
(a) Majha X
(b) Doaba X

/(9)/' Awadh '

| (d) Puadh

. What is the longitudinal extent of
Punjab? .

/(ag/ 73:55° East to 76:50° East
- (b) 73:55° West to 76-50° West
(c) 70-55° East to 76-50° East ¥

(d) 70-55° West to 76-50° West X

/1-C

(34)

135. =daiie o vl feadt fam |
IHf MS-Excel 29 327 T4s gy
g Ong fagr 7er |
(a) Cell ‘
(b) Table \
(c) Box | |
(d) Column

136. Jot £33 &3 ooz €A% U3 T w
gaie 37
(a) sample@gmail@com
(b) sample@gmail.do'm
(o) www.sample.corﬁ

| (d) - http.sample.com

137. I fofmi &5 faggT ¥am™ =7 439
&d 372
(a) g
(b). SufreT

() M<U

(d) ¥

138, 2 fomigdt femse S b
faat 92 |
(2) 73-5.5_5;? yag 3 76:50° YI¥ 3d
(b) 73-55° UgH 3 76-50° Y&H
() 70'55° ygy § 76:50° YIT 3%

—
=

(d) 70-55°qgH 3 76°50° UaH




139. Who among the following Sufl | 139, I5 fafm fog far gt #3 & Uit

Saints is considered as the€ first X )
poet of Punjabi? T YfosT gt e wher 39
(a) Sheikh Salim Chisti (2) By & fomh
(b) Sheikh Moinuddin Chisti (b) ™ yeftaehs fom

() ™Y =dte

(c) Sheikh Farid

() Sheikh Nizamuddin Auliya d) W fsmets

g Mughal | 140- 5 Tt vars fefsoma gearet £55

| ypo” Which of the following V. v
' chronicles mentions PunJ.at.Jda; fom &9 dame = 8r 839 =+ fiaaa
the territory that ?aila?; rd;‘”alf < 3 famr 3 fow § w3 w3 eS|
| . ; X e
| ;\I/I‘lli(i)t a;:lflrpovmces Y3t 1S9 ™ T Hawr 2
_Aa] Ain-e-Akbari (&) Eie—B-niered
(b) Humayun-nama P} gHig~SH
(c) Babur Nama (c] =EgaH

(d) Badshah Namax (d) FEHT &HT

| |141. In the Mahabhardta, Punjab ié 1_41‘ HI'S93 99 Uae w9 |
, described as | o st famr 1
_lay” Pancha-nada (a) y9-3<
(b) Panchsheel (b) Ui
((;) Panchmukh () YoHy
| (d) Panchmark (d) JoHas
142. Who was the last Sikh ruler? 1 42, wadt fiy HAS 3= "2
“% A8~ Maharaja Dalip Singh (a) HITH TN fiw
¥ (b) Maharaja Ranjit Siﬂgh (b) HITH g1 Y
E () Jassa Singh Ahluw alia (©) T R npg}_;;@'&%f’
[P.T.O.

G

_ (d) Hari Singh ) ot fitwr
\

ol )



T F T/ —

lowing ia n folk

& TR . h‘(" f()l v
143. Which of 1 [ punjab?

embroidery art 0
(n) Basohli Art
(b) Pochampally
(c) Madhubani

(d)~ phulkari

144 The ancient name of river Ravi is

/(a)/"Purushni

(b) Vipasa X

(c) Askini)X

(d) Sarsuti
ys;’ln 1948, the Princely States of
' Punjab which included Patiala,
Nabha, Malerkotla, Jind,
Kapurthala, Faridkot, Nalagarh

and Kalsia. were combined and a
new State of PEPSU was formed.

What does PEPSU stand for?

(a) Patiala and East Punjab
Students Union y

(b) Patiala and Early Punjab}(
States Union

(c) Pathankot and East Punjab
States Union

/(d)//Patiala and East Runjab
States Union

146. How many districts are there in
Punjab State?

(@) 20

(b) 25
A 23

(d) 28

/1-C

145. 19481”‘%"%2 Jarg ot fourmms fam fs

146. U7e gy fig oy frg 957

143, (st (5 forert ofirrer & 81 arimg

CeANE

() ST} AT
(b) TeHiel ¢
(c) WYsIal o
(d) gEadt

144, 3= st @y aH g

yfenmsT, &97, HBIdeET, iy,
JYIEBT, IIIEAS, FVAF W3
IEHT THS HS, § fHE 9 fig
a2t I YUy’ grfen famr H
Qug = o »@g 37
(a) ufensr w3 dme Tae medq
gams
(b) ufenmst w3 wigdt Uy weew

(d) JferrzT w3 dae ¥a AeH
Yo

(@) 20
(b) 25
(c) 23

(d) 28 ]

(36)




1‘ 1567 When was the firs

|

|

-

% ~ov

dulating plains and Kandi

niab are home of this

vegetation. In this
rement the vegetation
sta 4
mentioned is
thorny vegetation

(a) Tropical .

(b) Tropical dry deciduous

T yegetatiol

(c) Subtropical pine vegetation ,><

(d) Subtropical scrub  hill
vegetation

following Gurus

ng the |
148. Who among Afani-system’

established the
(a) Guru Angad Dev ji
(b Guru Amar Das ji
() GuruRam Das ji

(d) Guru Arjan Devji -

149, “In 1590, foundation of a new city
was laid between the rivers Ravi
and Beas by Guru Arjan Dev ji.”

What was the name of that city?
(a) Amritsary
(b) Batala
(c) Moga
Ad]” Tarn Taran

7\ t Treaty of

Lahore signed?
(a) 9th March, 1844
t () 9th March, 1845

e 9th March, 1846

(d) 9th March, 1847

47.@%@5@%@71? =
fem famy x
wa?]‘m» é}wu—;ﬂ'g

waﬂ q95 19, fiem i
™ &

(a) %ﬁgﬁw
b) 85 v ygvg Semdt
© Qu-Bre e Tamdt

) Qu-Gre ey yor=ht T

148.35 fofitt 25 i g s 5
‘ﬁﬁ_l{m, il uirey ;é—:ﬁ?
() JG »iae o= H#
(b) TG wHIH H

(C). did dJTHE™H T-ﬂ'
(d)

Jg MIAs o<

-—=

149, 1500 5, 919 niows 32 it T
<t w13 feur St  fewars fia
5% Higg & &fg At ot
8w mfgg = v off /2
(a) WifHIHT
(b) TIT
() Ham
(d) 39639

150, 5 @ ufrh it 3w TR
CIERCRN o
(a) 9T, 1844
(b) 9 HTY; 1845
(c) 9HIY, 1846

I1.¢
(37)

| (d) 9 H™dd, 1847

[ P.T.O.




